10-11-13 Birc2 - Well A1

Entry: 23315 Birc2

Sample: 1 189328

Position1: G/G (Passed), Position2: C/C (Passed), Position3: A/A (Passed)
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10-11-13 Birc2 - Well B1

Entry: 23315 Birc2

Sample: 1 189328

Position1: G/G (Passed), Position2: C/C (Passed), Position3: A/A (Passed)
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10-11-13 Birc2 - Well C1

Entry: 23315 Birc2

Sample: ntc

Position1: C/G (Failed), Position2: C/A (Failed), Position3: T/A (Failed)

[image: image3.emf]102
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10-11-13 Birc2 - Well D1

Entry: 23315 Birc2

Sample: ntc

Position1: C/G (Failed), Position2: C/A (Failed), Position3: T/A (Failed)
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10-11-13 Birc2 - Well F1

Entry: 23315 Birc2

Sample: wt

Position1: C/C (Passed), Position2: A/A (Passed), Position3: T/T (Passed)
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10-11-13 Birc2 - Well G1

Entry: 23315 Birc2

Sample: wt

Position1: C/C (Passed), Position2: A/A (Passed), Position3: T/T (Passed)
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10-11-13 Birc2 - Well H1

Entry: 23315 Birc2

Sample: wt

Position1: C/C (Passed), Position2: A/A (Passed), Position3: T/T (Passed)
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10-11-13 Birc2 - Well A2

Entry: 23315 Birc2

Sample: 1 189328

Position1: G/G (Passed), Position2: C/C (Passed), Position3: A/A (Passed)
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10-11-13 Birc2 - Well B2

Entry: 23315 Birc2

Sample: 1 189328

Position1: G/G (Passed), Position2: C/C (Passed), Position3: A/A (Passed)
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